
Solucións ficha 4º EP luns 1-6 Answer the questions Story 3: 

 

Story card 1 

What’s her name? Wanda the Witch. 

Where is she? She’s at home. 

Is her cat inside or outside? It’s outside. 

Can Wanda see the cat? No, she can’t. 

Why not? Because she hasn’t got her glasses. 

 

Story card 2 

Is it the cat or the rat inside? It’s the rat. 

What does Wanda think: is it the cat or the rat? The cat. 

Why? Because Wanda can’t see. 

 

Story card 3 

Is the rat hungry or thirsty? It’s thirsty. 

What has he got? Milk. 

 

Story card 4 

Is the rat hungry or thirsty? It’s hungry. 

What has he got? Fish. 

 

Story card 5 

Is the rat hungry or thirsty? It’s hungry. 

Has Wanda got some chicken? Yes, she has. 

 

Story card 6 



Where is the chicken? In the fridge. 

What has Wanda got round her neck? Her glasses. 

 

Story card 7 

Has Wanda got her glasses? Yes, she has. 

Can she see? Yes, she can. 

Is she happy? No, she’s angry. 

What can she see? She can see the rat. 

Can the rat have the chicken? No, it can’t. 

 

Story card 8 

Can Wanda see the cat? No,she can’t. 

Is the cat happy? No, it isn’t. 

Is the rat happy? No, it isn’t. 

 

 

 


